Sample Pathophysiology Questions
2013
**** cell stuff 
1) Which is NOT a mechanism of cell injury?

a) Mitochondrial damage

b) Loss of plasma membrane integrity

c) Reactive oxygen species (ROS), free radicals

d) Loss of intracellular calcium

e) ATP depletion
2) An increase in cell number without a change in their morphology or function is?

a) Hypertrophy

b) Hyperplasia

c) Metaplasia

d) Dysplasia

e) Neoplasia

3) Which form of necrosis generally results from infarction?

a) Coagulative necrosis

b) Liquefactive necrosis

c) Caseous necrosis

d) Fat necrosis

e) None of the above

4) Which of the following cell junctions allows small molecules to pass between cells?

a) Zonula occludens (tight junction)

b) Zonula adherens ( belt desmosome)

c) Macula adherens (spot desmosome)

d) Gap junctions

5) _____ is a change from one type of epithelial tissue to another type, e.g. seen in Barrett’s esophagus?

a) Hypertrophy

b) Hyperplasia

c) Metaplasia

d) Dysplasia

**** genetics 

6) What is the term for an error in which homologous chromosomes fail to separate during meiosis or mitosis?

a) Aneuploidy

b) Nondisjunction

c) Polyploidy

d) Translocation

7) Which of the following disorders has a mode of inheritance similar to hemophilia A?

a) Marfan syndrome

b) Duchenne muscular dystrophy (DMD)

c) Polycystic kidney disease

d) Down syndrome

e) Cystic fibrosis

8) Single X chromosome with no homologous X or Y chromosome:

a) Down Syndrome

b) Fragile X syndrome

c) Klinefelter syndrome

d) Turner syndrome

9) Cystic fibrosis is caused by an _____ gene.

a) X-linked dominant

b) X-linked recessive

c) autosomal dominant

d) autosomal recessive
10) Achondroplasia is inherited in an ______ pattern.

a) Autosomal dominant

b) Autosomal recessive

c) X-linked dominant

d) X-linked recessive

11) Which of the following disorders has a mode of inheritance similar to sickle cell anemia?

a) Marfan syndrome

b) Duchenne muscular dystrophy (DMD)

c) Achondroplasia

d) Down syndrome

e) Cystic fibrosis

12) Trisomy 21 is known as:

a) Down Syndrome

b) Edward Syndrome

c) Fragile X syndrome

d) Klinefelter syndrome

e) Turner syndrome

**** immunity, autoimmunity, infection, etc. 

13) Lymphocytes continually recirculate through peripheral lymphoid tissue in order to

a) be killed before they cause autoimmunity.

b) efficiently encounter antigen.

c) mature from stem cells into lymphocytes.

d) phagocytose antigen and kill it. 

e) go where no cell has gone before.

14) Which situation below describes an example of innate immunity?

a) antibody production by plasma cells.

b) antigen removal by cilia in the respiratory tract.

c) complement activation by antibody bound to the surface of a bacterium.

d) memory response to influenza virus 

e) recognition and killing of virus-infected cells by cytotoxic T cells.

15) Clonal selection

a) begins with inflammation.

b) occurs for all leukocytes.

c) occurs in response to self antigens.

d) results in innate immunity. 

e) results in proliferation of antigen-specific lymphocytes.

16) Innate immune responses are most effective against

a) antigens resembling self antigens.

b) common antigens on bacteria.

c) genetically engineered antigens.

d) viruses. 

e) viruses that have previously caused infection.

17) Several friends who went on a picnic together developed vomiting and diarrhea from eating potato salad contaminated with Staphylococcus aureus enterotoxin. Effects of the toxin could best be counteracted by

a) antibody binding and neutralization of the toxin.

b) antibody opsonization and phagocytosis of S. aureus.

c) antibody opsonization and phagocytosis of the toxin.

d) B cell binding to S. aureus. 

e) cytotoxic T cell binding and lysis of S. aureus.

18) Hypersensitivity is best defined as a(n):

a) disturbance in the immunologic tolerance of self-antigens.

b) immunologic reaction of one person to the tissue of another person.

c) immunologic response to an antigen that results in disease.

d) undetectable immune response in the presence of antigens.

19) What is the mechanism in type II hypersensitivity reactions?

a) Antibodies coat mast cells by binding to receptors that signal its degranulation followed by discharge of preformed mediators.

b) Antibodies bind to soluble antigens that were released into body fluids and the immune complexes are deposited in the tissues.

c) Cytotoxic T lymphocytes or lymphokines-producing Th1 cells attack and destroy cellular targets directly.

d) Antibodies bind to the antigens on the cell surface.

20) What disease involves the deposition of circulating immune complexes containing an antibody against host DNA, resulting in tissue damage?

a) Hemolytic anemia 

b) Rheumatoid arthritis

c) Systemic lupus erythematosus

d) Myasthenia gravis

21) Hematopoietic stem cells are pluripotent, which means that they are

a) antigen-specific cells.

b) capable of developing into any blood cells.

c) committed to produce cells of a single lineage.

d) not self-renewing. 

e) T and B lymphocytes of many different antigen specificities.

22) Vaccination protects us from infectious disease by generating memory

a) antigen.

b) lymphocytes.

c) macrophages.

d) PMNs.

e) stem cells.

23) Genes for immunoglobulins (antibodies) are unlike other human genes in that

a) antibody genes are composed of introns and exons.

b) DNA for antibody molecules is inherited from only one parent.

c) gene segments must be spliced together to make each unique antibody molecule. 

d) several exons encode each antibody molecule. 

e) none of the above is true.

24) Lymphocytes acquire their antigen specificity

a) as they enter the tissues from the circulation.

b) before they encounter antigen.

c) depending on which antigens are present.

d) from contact with self antigen. 

e) in the secondary lymphoid organs.

25) What is the mechanism in type III hypersensitivity reactions?

a) Antibodies coat mast cells by binding to receptors that signal its degranulation followed by discharge of preformed mediators.

b) Antibodies bind to soluble antigens that were released into body fluids and the immune complexes are deposited in the tissues, especially blood vessels.

c) Cytotoxic T lymphocytes or lymphokines-producing Th1 cells attack and destroy cellular targets directly.

d) Antibodies bind to the antigens on the cell surface.

26) What disease involves the binding of antibodies to acetylcholine receptors?

a) Hemolytic anemia 

b) Rheumatoid arthritis

c) Systemic lupus erythematosus

d) Myasthenia gravis

27) What is the role of integrase in HIV infection?

a) It converts single-stranded DNA into double-stranded DNA.

b) It is needed to produce reverse transcriptase.

c) It combines viral DNA with the host’s DNA.

d) It converts RNA into DNA.

28) Which of these are obligate intracellular bacteria?

a) Staphylococcus aureus & Streptococcus pyogenes

b) Proteus vulgaris & Pseudomonas aerunginosa

c) Bordetella pertussis & Haemophilus influenzae

d) Rickettsia spp. & Chlamydia trachomatis

e) Bacillus antracis & Corynebacterium diphtheriae

29) Malaria is caused by:

a) Babesia

b) Cryptosporidium

c) Plasmodium

d) Schistosoma

e) Trichinella

30) What is the role of reverse transcriptase in HIV infection?

a) It converts single-stranded DNA into double-stranded DNA.

b) It is needed to produce integrase.

c) It transports the RNA into the cell nucleus.

d) It converts RNA into DNA.

31) Which of these are exotoxin producing, gram+ cocci that are often responsible for nosocomial infection?

a) Staphylococcus aureus & Streptococcus pyogenes

b) Proteus vulgaris & Pseudomonas aerunginosa

c) Bordetella pertussis & Haemophilus influenzae

d) Mycobacterium tuberculosis, M. leprae & M. avium-intracellulare

e) Bacillus antracis & Corynebacterium diphtheriae

32) Which of these bacteria are screw shaped microaerobes?

a) Proteus vulgaris & Pseudomonas aerunginosa

b) Bordetella pertussis & Haemophilus influenzae

c) Clostridium botulinum, C. tetani, C. perfringens & C.difficile

d) Bacillus antracis & Corynebacterium diphtheriae

e) Helicobacter pylori & Campylobacter jejuni

**** cancer 

33) Familial tumors are usually associated with:

a) Inherited mutations of tumor suppressor genes

b) Inherited mutations of oncogenes

c) Environmental exposure to carcinogens

d) All of the above

34) Which of the following statements about tumor suppressor genes is FALSE?

a) In cancers, tumor suppressor genes are often overexpressed 

b) Mutations of tumor suppressor genes are usually recessive

c) Tumor suppressors inhibit proliferation

d) Tumor suppressors stimulate apoptosis

35) Which of the following statements is FALSE:

a) Mutations in p53 gene lead to accumulation of  damaged/mutated cells

b) p53 stimulates cell death

c) p53 stimulates gene repair processes

d) Germline mutations of p53 are the main cause of retinoblastoma

36) Which of the following is a tumor suppressor?

a) Ras

b) N-myc

c) HER2/neu

d) BRCA1

e) All of these are proto-oncogenes

37) Which one of the following is not a mutation that would lead to cancer?

a) Activation of type IV collagenase

b) Enabling of telomerase

c) Disabling of p53

d) Permanent inactivation of a growth factor receptor

e) Disabling of apoptosis signaling

**** endocrinology & diabetes 

38) Concerning the renin-angiotensin-aldosterone system, which is correct?

a) The juxtaglomerular renin secretion is inhibited by high renal blood flow

b) Renin converts angiotensin I to angiotensin II 

c) Hypernatremia stimulates secretion of aldosterone

d) ACTH inhibits secretion of aldosterone

39) Which of these is correct?

a) Type 2 diabetes results from pancreatic β-cell destruction
b) Hashimoto’s thyroiditis often results in hypercalcemia
c) Hypotension results in increased aldosterone production 

d) Sheehan syndrome results in loss of TRH 

e) A null cell adenoma results in galactorrhea 

40) Which of the following statements concerning diabetes is correct?

a) Onset of Type 2 diabetes is typically in older people
b) Type 2 diabetes typically occurs in normal weight people
c) Type 1 has a greater genetic concordance than type 2
d) Type 1 involves hyperglycemia, while type 2 does not
e) Insulin secretion is initially increased in type 2 diabetes
41) A patient has high TSH and low T4, which disease is most likely?

a) Grave’s disease

b) Hashimoto’s thyroiditis

c) TSH cell adenoma

d) Null cell adenoma

e) None of these result in high TSH and low T4

42) Surgery is a treatment option for all of these EXCEPT:

a) Pituitary Cushing’s syndrome

b) Adrenal Cushing’s syndrome

c) Iatrogenic Cushing’s syndrome

d) Paraneoplastic Cushing’s syndrome

43) Which of the following statements is correct?

a) An aldosterone secreting tumor would result in increased renin

b) Ca++ deficient diet could cause secondary hyperparathyroidism

c) Adrenocortical insufficiency (Addison’s) is a cause of hypertension
d) Pheochromocytoma is treated with cortisol
e) Congenital adrenal hyperplasia would contribute to muscle wasting
44) You are examining a patient whose history includes arthritis, photosensitivity, lymphadenopathy, oral ulcers, and a malar rash. SLE is one of a few possible diagnoses entertained, but further testing is required for a more definitive diagnosis. Which of the following findings would strongly favor SLE above other similarly presenting conditions?

a) Hypergammaglobulinemia

b) Decreased C3 and C4 levels

c) Elevated ESR

d) Elevated anti-double-stranded DNA antibody test

45) Which of the following hormones is not secreted by the anterior pituitary?

a) LH

b) ACTH

c) TSH

d) Prolactin

e) IGF-1

46) Concerning the renin-angiotensin-aldosterone system, which is correct?

a) The juxtaglomerular renin secretion is enhanced by high renal blood flow

b) Renin converts angiotensin I to angiotensin II 

c) Hyperkalemia stimulates secretion of aldosterone

d) ACTH inhibits secretion of aldosterone

47) Which statement concerning cortisol is NOT correct?

a) The predominant effect of ACTH is release of cortisol.

b) Cortisol increases blood glucose.

c) Negative feedback is important for regulation of cortisol.

d) Stress is a major stimulus for cortisol release.

e) Cortisol enhances immune system function.

48) Which of these is correct?

a) Type 1 diabetes results from pancreatic β-cell destruction
b) Hashimoto’s thyroiditis often results in hypercalcemia
c) Hypertension can result from decreased renin production 

d) Sheehan syndrome results in loss of TRH 

e) A null cell adenoma results in galactorrhea 

49) What is the action of calcitonin?

a) Increases metabolism

b) Decreases metabolism

c) Increases serum calcium

d) Decreases serum calcium

50) The nurse is evaluating a patient with oat cell adenocarcinoma of the lung for syndrome of inappropriate antidiuretic hormone (SIADH). Which of the following laboratory values would the nurse expect to find if the patient had SIADH?

a) Hypernatremia and urine hyperosmolality

b) Hyperkalemia and urine hypo-osmolality

c) Hyponatremia and serum hypo-osmolality

d) Hypokalemia and serum hyperosmolality

51) If the target cells for ADH do not have receptors, the result is _____ diabetes insipidus (DI).

a) neurogenic

b) nephrogenic

c) psychogenic

d) ischemic

52) What is the term used to describe a patient who experiences cortisol deficiency from lack of adrenocorticotropic hormone (ACTH), thyroid deficiency from lack of thyroid stimulating hormone (TSH), and gonadal failure with loss of secondary sex characteristics from the absence of follicle stimulating hormone (FSH) and luteinizing hormone (LH)?

a) Panhypopituitarism

b) Adrenocorticotropic hormone (ACTH) deficiency

c) Hypopituitarism

d) Anterior pituitary failure

53) A deficiency of _____ may result in hypothyroidism.

a) iron

b) iodine

c) zinc

d) magnesium

54) What is a description of diabetes mellitus type 2?

a) There is a resistance to insulin by insulin-sensitive tissues.

b) The patient uses lispro instead of regular insulin.

c) There is an increased glucagon secretion from  -cells of the pancreas.

d) There are insulin autoantibodies that destroy ß-cells in the pancreas.

**** cardiovascular 

55) What is the major determinant of the resistance blood encounters as it flows through the systemic circulation?

a) The volume of blood in systemic circulation

b) The muscle layer of arteries

c) The muscle layer of arterioles

d) The force of ventricular contraction

e) The muscle layer of the metarterioles

56) What is the usual source of pulmonary emboli?

a) Deep vein thrombosis
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Endocarditis

c) Valvular disease

d) Left heart failure

57) In the diagram on the right, which number corresponds to the opening of the aortic valve?

a) 1

b) 3

c) 4

d) 5

e) 7

58) A patient undergoes an extensive cardiac examination.  Heart rate is 76 (beats per minute), blood pressures is 124/76 (mmHg), and echocardiography shows LVEDV = 113 (ml) and LVESV = 42 (ml).  Which of the following values is INCORRECT?

a) Stroke volume = 71 ml

b) Cardiac output = 5.4 L/minute

c) Ejection fraction = 63%

d) Mean arterial pressure = 92 mmHg

e) Peripheral vascular resistance = 14 mmHg*min/L

59) When does systemic vascular resistance in infants begin to rise?

a) One month before birth

b) During the beginning stage of labor

c) One hour after birth

d) Once the placenta is removed from circulation

60) _____ angina occurs because of vasospasms of one or more coronary arteries and often during sleep.

a) Unstable

b) Stable

c) Silent

d) Prinzmetal

61) An individual is demonstrating elevated levels of troponin, creatine kinase (CK), and lactic dehydrogenase (LDH). These elevated levels indicate:

a) myocardial ischemia.

b) hypertension.

c) myocardial infarction.

d) coronary artery disease.

62) A patient is diagnosed with pulmonary disease and elevated pulmonary vascular resistance. Which of the following cardiovascular condition may result from this condition?

a) Right heart failure

b) Left heart failure

c) Mitral valve prolapse

d) Pulmonic valve stenosis

63) The cardiac electrical impulse normally begins spontaneously in the SA node because:

a) of its superior location in the right atrium.

b) it is the only area of the heart capable of spontaneous depolarization.

c) it has rich sympathetic innervation via the vagus nerve.

d) it depolarizes more rapidly than other automatic cells of the heart.
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64) What dysrhythmia is shown in the EKG above?

a) None, it’s a normal sinus rhythm

b) Tachycardia

c) Premature atrial contraction

d) Premature junctional contraction

e) Premature ventricular contraction
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65) What dysrhythmia is shown in the EKG above?

a) None, it’s a normal sinus rhythm

b) First degree heart block

c) Second degree type 1 heart block

d) Second degree type 2 heart block

e) Third degree 1 heart block

66) During the cardiac cycle which of the following happens next after the first heart sound?

a) Second heart sound

b) Aortic valve opens

c) Mitral valve opens

d) LVESV is achieved

e) Maximal ventricular pressure is achieved

67) In the diagram on the right, which number corresponds to start of ventricular contraction?

a) 1

b) 2

c) 3

d) 4

e) 5

68) How does angiotensin II increase the workload of the heart after a myocardial infarction?

a) By increasing the peripheral vascular resistance

b) By causing dysrhythmias as a result of hyperkalemia

c) By reducing the contractility of the myocardium

d) By stimulating the sympathetic nervous system

69) A patient undergoes an extensive cardiac examination.  Heart rate is 64 (beats per minute), blood pressure is 136/82 (mmHg), and echocardiography shows LVEDV = 133 (ml) and LVESV = 52 (ml).  Which of the following values is INCORRECT?

a) Stroke volume = 81 ml

b) Cardiac output = 5.4 L/minute

c) Ejection fraction = 61%

d) Mean arterial pressure = 100 mmHg

e) Pulse pressure = 54 mmHg
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70) What dysrhythmia is shown in the EKG above?

a) None, it’s a normal sinus rhythm

b) First degree heart block

c) Second degree type 1 heart block

d) Second degree type 2 heart block

e) Third degree 1 heart block

71) A patient is diagnosed with pulmonary edema. Which of the following conditions is most likely to produce this condition?

a) Right heart failure

b) Hepatic portal hypertension

c) Mitral valve prolapse

d) Pulmonic valve stenosis

**** pulmonary 

72) How does surfactant produced by type II pneumocytes facilitate alveolar distention and ventilation?

a) By decreasing thoracic compliance

b) By attracting water to the alveolar surface

c) By decreasing surface tension in alveoli

d) By increasing surface tension in alveoli

73) Approximately 1000 ml (1 L) of oxygen is transported to cells each minute. How is most of the oxygen transported?

a) Dissolved in plasma

b) Bound to hemoglobin

c) In the form of carbon dioxide (CO2)

d) Bound to protein

74) Which pleural abnormality involves a site of pleural rupture that act as a one-way valve, permitting air to enter on inspiration, but preventing its escape by closing during expiration?

a) Spontaneous pneumothorax

b) Tension pneumothorax

c) Open pneumothorax

d) Secondary pneumothorax

75) _____ involves an infected pleural effusion, the presence of pus in the pleural space, and a complication of respiratory infection, usually pneumonia.

a) Transudative effusion

b) Empyema

c) Exudative effusion

d) Abscess

76) In _____ pulmonary disease either more force is required to expire a given volume of air, or emptying of the lungs is slowed, or both.

a) restrictive

b) obstructive

c) acute

d) communicable

77) A patient has an adenocarcinoma of the lungs that is 42 mm long, and extends to the visceral pleura.  Ipsilateral mediastinal nodes are positive, but no contralateral nodes are.  Which of the following is true regarding this tumor?

a) its stage is IIB, it is resectable

b) its stage is IIIA, it is resectable

c) its stage is IIIA, it is not resectable

d) its stage is IIIB, it is resectable

e) its stage is IIIB, it is not resectable

78) How is most carbon dioxide carried in the blood?

a) Attached to oxygen

b) In the form of bicarbonate

c) Combined with albumin

d) Dissolved in the plasma

79) Which of the following statements is INCORRECT?

a) There is more dissolved CO2 than O2 in your blood

b) Most CO2 is transported from tissue to lungs as HCO3-

c) Venous blood has a higher pH than arterial blood

d) Normally, ventilation rate is controlled by arterial CO2 tension

e) Pulmonary capillary O2 and CO2 tensions equilibrates with alveolar tensions

80) A patient has emphysema, which pattern of lung function tests is most likely?

a) FVC is ~normal, FEV1 is increased

b) FVC is increased, FEV1 is increased

c) FVC is ~normal, FEV1 is decreased

d) FVC is decreased, FEV1 is normal
81) A patient has an adenocarcinoma of the lungs that is 42 mm long, and has invaded the esophagus, but no distant metastases have been found.  Ipsilateral mediastinal nodes are positive, but no contralateral nodes are.  Which of the following is true regarding this tumor?

a) its stage is IIB, it is resectable
b) its stage is IIIA, it is resectable

c) its stage is IIIA, it is not resectable

d) its stage is IIIB, it is resectable

e) its stage is IIIB, it is not resectable

**** renal 

82) The _____ is the functional unit of the kidney.

a) glomerulus

b) nephron

c) collecting duct

d) pyramid

83) What is the direct action of atrial natriuretic hormone?

a) Retain sodium

b) Excrete sodium

c) Retain water

d) Excrete water

84) What stimulates the renal hydroxylation step to produce Vitamin D?

a) Erythropoietin

b) Thyroid hormone

c) Calcitonin

d) Parathyroid hormone

85) Which kidney disorder is characterized by hypoalbuminemia, edema, hyperlipidemia and lipiduria?

a) Nephrotic syndrome

b) Acute glomerulonephritis

c) Chronic glomerulonephritis

d) Pyelonephritis

86) How does proteinuria cause edema?

a) Loss of plasma albumin from the distal tubules causes an obstruction the collecting tubules, causing urine to back up into kidneys and ultimately the systemic circulation.

b) Loss of plasma albumin decreases plasma volume, which prevents the stimulation of antidiuretic hormone (ADH) from the posterior pituitary.

c) Loss of plasma albumin decreases plasma volume, which turns off the renin-angiotensin-aldosterone system.

d) Loss of plasma albumin decreases the plasma oncotic pressure, which normally holds water in the capillaries.

87) In immunoglobulin A (IgA) nephropathy (Berger nephropathy), where is the IgA deposited?

a) In the juxtamedullary nephrons

b) In the glomerular endothelium

c) In the mesangium of the glomerular capillaries

d) In the parietal epithelium

88) What pathologic change occurs in kidneys of people with hypertension that leads to dysfunction of the glomeruli?

a) Compression of the renal tubules

b) Ischemia of the tubule

c) Increased pressure from within the tubule

d) Obstruction of the renal tubule

89) A patient has PCO2 of 67 mmHg and a blood HCO3- of 45 mM. What is the pH?

a) 7.25

b) 7.35

c) 7.40

d) 7.45

e) 7.60

90)  Which of the following scenarios could have caused the situation above?

a) Vomiting and hyperventilation

b) Ingestion of sulfuric acid (H2SO4) and hypoventilation

c) Chronic kidney failure and hyperventilation

d) Ingestion of antacid (CaCO3) and hypoventilation
91) Lupus results in which type of glomerular nephritis?

a) Circulating immune complex nephritis

b) Anti-glomerular basement membrane complex nephritis

c) Membranous Glomerulonephritis (Membranous Nephropathy)

d) Minimal change disease (Lipoid Nephrosis)

e) Acute Proliferative (Poststreptococcal, Postinfectious) Glomerulonephritis

92) A mass of proliferating cells in found in Bowman’s space in which disease?
a) Circulating immune complex nephritis

b) Anti-glomerular basement membrane complex nephritis

c) Focal Segmental Glomerulosclerosis 

d) IgA Nephropathy (Berger Disease)

e) Rapidly Progressive (Crescentic) Glomerulonephritis

93) What type of tissue lines the renal proximal tubule?

a) Simple squamous epithelium

b) Simple cuboidal epithelium (both answers are fine)
c) Simple columnar epithelium

d) Stratified squamous epithelium

e) Transitional epithelium

94) Where is most of the filtered Na+ reabsorbed?

a) Proximal convoluted tubule

b) Thin descending loop of Henle

c) Thin ascending loop of Henle

d) Distal convoluted tubule 

e) Medullary collecting duct

95) A patient has PCO2 of 61 mmHg, blood HCO3- of 26 mM, what is the pH (pKa of HCO3- is 6.1):

a) 7.10

b) 7.25

c) 7.35

d) 7.45

e) 7.60

96) The patient above has:

a) Compensated respiratory alkalosis

b) Uncompensated respiratory acidosis

c) Compensated respiratory acidosis

d) Compensated metabolic alkalosis

e) Uncompensated metabolic acidosis

**** anemia & leukemia 

97) What is the normal life span of an erythrocyte?

a) 20 to 30 days

b) 100 to 120 days

c) 200 to 240 days

d) indefinite

98) Which of the following anemias is classified as a macrocytic-normochromic anemia?

a) Iron deficiency anemia

b) Pernicious anemia

c) Sideroblastic anemia

d) Hemolytic anemia

99) Which anemia produces small, pale erythrocytes?

a) Folic acid

b) Hemolytic

c) Iron deficiency

d) Pernicious

100) Which of the following anemias is often caused by renal failure?

a) Iron deficiency anemia

b) Pernicious anemia

c) EPO deficient anemia

d) Sideroblastic anemia

e) Hemolytic anemia

101) Which anemia results in large erythrocytes?

a) Pernicious anemia
b) Sickle cell anemia
c) Iron deficiency anemia
d) Sideroblastic anemia
e) Myelofibrosis

**** nervous systems 

102) Which of the following transmit a nerve impulse at the highest rate?

a) Large nonmyelinated axons

b) Large myelinated axons

c) Small nonmyelinated axons

d) Small myelinated axons

103) Elaboration of thought and goal-oriented behavior are functions of the _____ area of the brain.

a) thalamic

b) limbic system

c) prefrontal

d) occipital lobe

104) What is a characteristic of lower motor neurons?

a) They directly synapse on muscles.

b) They do not participate in spinal reflex arcs.

c) Their cell bodies are located in the motor cortex of the cerebrum.

d) They extend their dendritic processes out of the CNS.

105) Parkinson and Huntington diseases are associated with defects in the:

a) thalamus.

b) medulla oblongata.

c) cerebellum.

d) basal ganglia.

106) Most dysphasias are associated with cerebrovascular accidents involving which artery?

a) Anterior communicating artery

b) Posterior communicating artery

c) Circle of Willis

d) Middle cerebral artery

107) What is the central component of the pathogenic model of multiple sclerosis?

a) Myelination of nerve fibers in the PNS

b) Demyelination of nerve fibers in the CNS

c) The development of neurofibril tangles in the CNS

d) Inherited autosomal dominant trait with high penetrance

108) A cell has an internal K+ concentration of 110 mM and external K+ concentration of 3.7 mM, what is the Nernst potential for K+?

a) -60 mV

b) -66 mV

c) -76 mV

d) -90 mV

e) -94 mV 

109) In which disorder are antibodies produced against Schwann cells?

a) Guillain-Barré syndrome

b) Multiple sclerosis

c) Myasthenia gravis

d) Parkinson disease

110) The cell type that is primarily responsible for the blood-brain barrier is a(n):

a) neurolemmocyte.

b) Schwann cell.

c) oligodendrocyte.

d) astrocyte.

111) What is a characteristic of upper motor neurons?

a) They directly synapse on muscles.

b) They do not synapse in the spinal cord.

c) Their cell bodies are located in the motor cortex of the cerebrum.

d) They extend their dendritic processes out of the CNS.

**** musculoskeletal 

112) What happens when bone is “resorbed” during the process of growth and repair?

a) Existing bone is replaced.

b) Bone hardens.

c) Bone is removed.

d) New bone is synthesized.

113) What causes the crystallization within the synovial fluid that causes acute, painful inflammation of the joint in gouty arthritis?

a) Reduced excretion of purines

b) Overproduction of uric acid

c) Increase in the glycosaminoglycan levels

d) Overproduction of proteoglycans

114) Which bone cells are large, multinucleated cells of the bone that develop from mononuclear phagocytic cells and contain lysosomes filled with hydrolytic enzymes?

a) Osteoblasts

b) Osteoclasts

c) Osteocytes

d) Fibrocytes

115) Which part of a joint is insensitive to pain and regenerates slowly and minimally after injury?

a) Synovium

b) Articular cartilage

c) Bursa

d) Tendon

116) Compact bone is highly organized, solid, and extremely strong. The basic structural unit in compact bone is:

a) small channels called canaliculi.

b) osteocytes within the lacunae.

c) tiny spaces within the lacunae.

d) the haversian system.

**** GI, liver, gallbladder, pancreas 

117) Which statement is false about characteristics of vitamin B12?

a) Normally the liver can store vitamin B12 for years.

b) Vitamin B12 attaches to the carrier protein transcobalamin and is transported into tissue.

c) Vitamin B12 is necessary for platelet maturation.

d) Vitamin B12 binds to intrinsic factor and is absorbed in the terminal ileum.

118) What is the effect of the process of conjugation of bilirubin in the liver?

a) It transforms unconjugated (fat-soluble) bilirubin into urobilinogen.

b) It transforms unconjugated (fat-soluble) bilirubin into conjugated (water-soluble) bilirubin.

c) It transforms conjugated (water-soluble) bilirubin into unconjugated (fat-soluble) bilirubin.

d) It transforms conjugated (water-soluble) bilirubin into urobilinogen.

119) A person who has cholera would be expected to have which type of diarrhea?

a) Osmotic diarrhea

b) Secretory diarrhea

c) Malabsorption diarrhea

d) Motility diarrhea

120) Vitamin _____ is required for normal clotting factor synthesis by the _____.

a) K; kidneys

b) D; kidneys

c) K; liver

d) D; liver

121) Which of the following is an incorrect association?

a) Jaundice : increased bilirubin in the blood

b) Ascites : hepatic portal congestion

c) Bruises : decreased clotting factors

d) Gynecomastia : decreased steroid clearance

e) Edema : increased plasma albumin

122) In hemolytic anemia, when does jaundice occur?

a) Only when erythrocytes are destroyed in the spleen

b) Only when heme destruction exceeds the liver’s ability to conjugate and excrete bilirubin

c) Only when the patient has elevations in aspartate transaminase (AST) and alanine transaminase (ALT)

d) Only when the erythrocytes are coated with an immunoglobulin

123) A life-threatening manifestation of portal hypertension is _____ bleeding.

a) rectal 

b) duodenal 

c) esophageal 

d) intestinal 

**** male & female reproductive systems 

124) A surge of which hormone changes the ovulatory follicle into the corpus luteum?

a) Follicle-stimulating hormone (FSH)

b) Luteinizing hormone (LH)

c) Gonadotropin-releasing hormone (GnRH)

d) Progesterone

125) _____ is the descent of the bladder and the anterior vaginal wall into the vaginal wall.

a) Rectocele

b) Vaginocele

c) Cystocele

d) Enterocele

126) What is a theory of causation for endometriosis?

a) Obstruction within the fallopian tubes prevent the endometrial tissue from adhering to the lining of the uterus.

b) Endometrial tissue passes through the fallopian tubes and into the peritoneal cavity and remains responsive to hormones.

c) Inflammation of the endometrial tissue develops after recurrent sexually transmitted diseases.

d) Endometrial tissue lies dormant in the uterus until the ovaries produce sufficient hormone to stimulate its growth.

127) Which organism causes syphilis?

a) Neisseria syphilis, an anaerobic bacterium

b) Treponema pallidum, a spirochete

c) Haemophilus ducreyi, a bacterium

d) Chlamydia trachomatis, an intracellular parasite

128) A ductal breast cancer tumor is 34 mm in length, 6 lymph nodes are positive, but there is no other spread beyond breast tissue – what is the stage of this cancer?

a) Stage IIA

b) Stage IIB

c) Stage IIIA

d) Stage IIIB

e) Stage IV

129) Spermatogenesis occurs in the:

a) epididymis.

b) rete testes.

c) seminiferous tubules.

d) vas deferens.

130) During a normal menstrual cycle:

a) Negative feedback causes an LH spike during the ovulatory phase.

b) The corpus luteum develops during the follicular phase.

c) Progesterone peaks during the proliferative phase.

d) FSH does not contribute significantly to the follicular phase.

e) Typically only a single Graafian follicle develops and erupts.

131) After implantation, which hormone maintains the corpus luteum?

a) FSH

b) LH

c) HCG

d) Estrogen

e) Progesterone

132) What is the usual site of cervical dysplasia or cancer in situ?

a) The point at which the squamous epithelium of the cervix meets the cuboid epithelium of the vagina

b) The point at which the columnar epithelium of the cervix meets the squamous epithelium of the uterus

c) The point at which the squamous epithelium of the cervix meets the columnar epithelium of the uterus

d) The point at which the columnar epithelium of the cervix meets the squamous epithelium of the vagina

133) _____ are benign uterine tumors that develop from smooth muscle cells in the myometrium and are commonly called uterine fibroids.

a) Endometrial polyps

b) Myometrial polyps

c) Leiomyomas

d) Myometriomas

134) Having ejected a mature ovum, the ovarian follicle develops into a(n):

a) atretic follicle.

b) thecal follicle.

c) corpus luteum.

d) scar.

135) The equivalent to the ovaries in women is the _____ in men.

a) epididymis

b) spermatic cord

c) vas deferens

d) testes

136) Where is sperm made?

a) Seminiferous tubules

b) Epididymis

c) Ductus deferens

d) Ureter

e) Cowper’s gland

137) Condylomata acuminata, or genital warts, are caused by:

a) chlamydia.

b) adenovirus.

c) human papilloma virus.

d) herpes simplex virus 1.

**** skin 

138) Which cell junction attaches epithelial cells to the basement membrane?

a) Hemidesmosome

b) Zonula occludens

c) Desmosome

d) Zonula adherens

e) Gap junction

139) Pemphigus results in numerous

a) Macules

b) Papules

c) Plaques

d) Bullae

e) Cysts

140) A wart on the hand is an example of a:

a) Papule

b) Pustule

c) Wheal

d) Bulla

e) Vesicle

141) The most common cause of death from skin cancer is caused by

a) Basal cell carcinoma

b) Squamous cell carcinoma

c) Malignant melanoma

d) Kaposi sarcoma

142) Which of the following skin afflictions is a type I hypersensitivity?

a) Allergic contact dermatitis

b) Atopic dermatitis

c) Psoriasis

d) Acne vulgaris

**** clinical vignettes 

143) A 31-year-old woman who has two healthy children, notes that she has had no menstrual periods for the past 6 months, but she is not pregnant and takes no medications. Within the past week, she has noted some milk production from her breasts. She has been bothered by headaches for the past 3 months. After nearly hitting a bus while changing lanes driving her vehicle, she is concerned with her vision. An optometrist finds her lateral vision to be reduced. On physical examination she is afebrile and normotensive. Which of the following laboratory test findings is most likely to be present in this woman?

a) Increased serum cortisol

b) Hyperprolactinemia

c) Hyponatremia

d) Abnormal glucose tolerance test

e) Decreased serum TSH

144) A 29-year-old primigravida who received no prenatal care has marked vaginal bleeding after the onset of labor at 38 weeks gestation. Cesarean section is performed and a lacerated low-lying placenta is removed. She remains hypotensive for 6 hours and requires transfusion of 12 packed RBC units. Postpartum, she becomes unable to breast-feed the infant. She does not have a resumption of normal menstrual cycles. She becomes more sluggish and tired. Laboratory findings include hyponatremia, hyperkalemia, and hypoglycemia. Which of the following pathologic lesions is she most likely to have had following delivery?

a) Bilateral adrenal hemorrhage

b) Pituitary necrosis

c) Subacute thyroiditis

d) Metastatic choriocarcinoma

e) Insulitis

145) A baby boy, born of a poorly controlled, chronically hyperglycemic, diabetic mother, was large and chubby (macrosomic) at birth (5 kg) but appeared otherwise normal. He declined rapidly, however, and within 1 h showed all the symptoms of hypoglycemia. Which of the following treatments is most likely to help him?

a) Insulin injection

b) Withholding food

c) Blood transfusion

d) Glucose infusion

e) Supplemental potassium

146) A 27-year-old G2 P1 woman has a screening ultrasound performed at 18 weeks gestation. The fetus is appropriate in size for 18 weeks. The fetal kidneys, liver, head, and extremities appear normal. However, the fetus has a heart with a membranous ventricular septal defect, overriding aorta, and marked pulmonic atresia. If the baby were to be liveborn, which of the following characteristics on physical examination would most likely result from these cardiac defects?

a) Systemic hypertension

b) Weak lower extremity pulses

c) Clubbing of digits

d) Telangiectasias

e) Cyanosis

147) A 45-year-old woman complained of right upper quadrant abdominal pain and vomiting after consuming fatty food. The only biochemical abnormality was a modestly raised alkaline phosphatase at 400 U/L (< 260 U/L). Which of the following is most likely?

a) Acute pancreatitis

b) Chronic pancreatitis

c) Alcoholic liver disease

d) Graves’ disease

e) Gall stones

148) A 44-year-old woman dies as a consequence of a "stroke". At autopsy, she is found to have a large right basal ganglia hemorrhage. She has an enlarged heart with predominantly left ventricular hypertrophy. Her kidneys are small with cortical scarring, and microscopically they demonstrate small renal arterioles that have luminal narrowing from concentric thickening. Which of the following is the most likely diagnosis?

a) Dominant polycystic kidney disease

b) Arterial changes with diabetes mellitus

c) Vascular disease with hyperlipidemia

d) Malignant hypertension

e) Monckeberg's sclerosis

149) A 60-year-old woman is admitted with sudden onset of chest pain and is diagnosed with an acute myocardial infarction. There is difficulty maintaining adequate blood pressure and tissue perfusion for 3 days. Her serum lactate becomes elevated. Her serum urea nitrogen and creatinine are noted to be increasing. Granular and hyaline casts are present on microscopic urinalysis. Which of the following renal lesions is most likely to be present in this situation? 

a) Chronic pyelonephritis 

b) Acute tubular necrosis 

c) Nodular glomerulosclerosis 

d) Renal vein thrombosis 

e) Minimal change disease 

150) An otherwise healthy, 60-year-old man noticed an occasional tremor in his left arm when relaxing and watching television. He also noticed occasional muscle cramping in his left leg, and his spouse noticed that he would occasionally develop a trance-like stare. Which of the following is most likely to help?

a) Abstaining from alcohol consumption

b) L-dihydroxyphenylalanine (L-DOPA)

c) Increased dietary vitamin D

d) Supplemental iron

e) Decreased consumption of zinc

151) A 15-year-old insulin-dependent boy visited a diabetic clinic for a routine check-up. He told the doctor that he followed all the dietary advice and never missed insulin injections. Although his random blood glucose was 108 mg/dL, HbA1c concentration was 11% (adequate control: below 7%). Which of the following best explains the elevated HbA1c value?

a) He is not following the dietary advice and/or missed multiple insulin injections.

b) He is using too much insulin.

c) The HbA1c value reflects normal variance for that test.

d) The increased HbA1c is caused by decreased renal function.

152) An 8-year-old girl was referred to a nephrologist after it had been noticed that her face was puffy and her ankles swollen over a period of about 2 weeks. Dipstick test for urine protein yielded a strongly positive (++++) result and measurement in a 24-hour collection showed protein excretion of 7 g/day. The reference value for urinary protein excretion is less than 0.15 g/day.  Why are her ankles swollen?

a) Decrease in the plasma oncotic pressure resulting from gain of plasma protein.

b) Increase in the plasma oncotic pressure resulting from gain of plasma protein.

c) Decrease in the plasma oncotic pressure resulting from loss of plasma protein.

d) Increase in the plasma oncotic pressure resulting from loss of plasma protein.

e) None of the above.

153) A 35-year-old man complained of shortness of breath after climbing two flights of stairs. His chest radiograph was normal, as were examination of the heart and the electrocardiogram; blood gases were normal. He was taking a nonsteroidal antiinflammatory agent (NSAID) for joint pain. His blood cell count revealed a hemoglobin value of 10 g/dL (reference range for men 13–18 g/dL) and a reduced mean corpuscular volume of 72 dL (reference range 80–96). Serum ferritin concentration was low at 10 μ g/L (reference range 14–200). Which of the following diagnoses is most likely?

a) NSAID decreased RBC production

b) Sickle cell anemia

c) Hashimoto’s thyroiditis

d) Iron deficiency anemia

e) Pernicious anemia

154) A 45-year-old businessman had a routine medical examination, at which he was found to have a slightly enlarged liver. Tests revealed bilirubin 15 μ mol/L (0.9 mg/dL), AST 434 U/L, ALT 198 U/L, ALP 300 U/L, γ -glutamyl transpeptidase (γGT) 950 U/L, and albumin 40 g/L (4 g/dL). He seemed perfectly well. Which of the following is most likely to help him?

a) Gluten free diet

b) Lactose free diet

c) Abstaining from alcohol consumption

d) Corticosteroid treatment

e) He seemed perfectly well, so there is no problem
155) A 45-year-old woman presented with fatigue, rapid weight gain with central obesity, fullness and redness of her face, and loss of regular menstrual periods. She was mildly hypertensive, and her family doctor had found her also to be diabetic for which she had received dietary advice. Urinary cortisol was 1000 nmol/24 h (normal < 250 nmol/24 h); serum cortisol was 500 nmol/L at midnight (normal < 50 nmol/L) and her 8:00 AM cortisol was 550 nmol/L after 1 mg of dexamethasone (a potent synthetic glucocorticoid) (normal < 50 nmol/L). Plasma ACTH was 100 ng/L (normal < 80 ng/L).  What is the most likely diagnosis?

a) Graves’ disease

b) Hashimoto’s thyroiditis

c) ACTH secreting tumor
d) Adrenocortical insufficiency

e) Cortisol secreting adrenal tumor

156) A 41-year-old man is found in an obtunded state and taken to the hospital. On admission physical examination he is icteric. His abdomen is enlarged with a fluid wave. An abdominal CT scan shows extensive intraperitoneal fluid and a uniformly enlarged liver that has decreased attenuation (decreased brightness). Laboratory studies show total protein 6.5 g/dL, albumin 2.8 g/dL, total bilirubin 4.8 mg/dL, AST of 563 U/L, ALT 317 U/L, alkaline phosphatase 55 U/L, and ammonia 91 micromol/L (normal range 7 - 27 micromol/L). A liver biopsy is performed and microscopically demonstrates abundant Mallory hyaline, neutrophilic infiltrates, hepatocyte necrosis, portal fibrosis, and extensive macrovesicular steatosis (fatty liver). Which of the following is the most likely diagnosis?

a) Acute hepatitis A infection

b) Sclerosing cholangitis

c) Alcoholic hepatitis

d) Chronic hepatitis B infection

e) Acetaminophen toxicity

157) A 43-year-old previously healthy woman has noted bouts of sharp upper abdominal pain along with nausea for 3 weeks. On physical examination she has tenderness to palpation of the right upper quadrant. She has scleral icterus. A liver biopsy is performed and on microscopic examination shows only intracanalicular cholestasis in the centrilobular regions, along with swollen liver cells and portal tract edema. There is no necrosis and no fibrosis. There is no increase in stainable iron. Which of the following is the most likely diagnosis?

a) Chronic passive congestion

b) Hepatitis B viral infection

c) Extrahepatic biliary atresia

d) Hepatic veno-occlusive disease

e) Choledocholithiasis

158) A 36-year-old woman has had episodes of lower abdominal and pelvic pain for the past 10 years. A bimanual pelvic examination reveals no abnormalities. A Pap smear is negative. She has an abdominal ultrasound scan that reveals no abnormalities. Finally, she undergoes laparoscopy, and her physician notes the presence of several 0.2 to 0.5 cm brown nodular lesions located on serosal surfaces of the uterus, fallopian tubes, and appendix. These lesions are excised. Which of the following microscopic findings is most likely to be present in these lesions?

a) Endometrial glands with stroma

b) Mesothelioma

c) Metastatic adenocarcinoma

d) Small capillary proliferation

e) Caseating granulomatous inflammation

159) A 35-year-old woman came to her physician complaining of palpitations, difficulty climbing stairs and general fatigue. She also said that she had lost 4 kg of weight recently despite a good appetite and no attempt at dieting. She also reported occasional diarrhea, and increasingly infrequent and light menstrual bleeds. On examination, her skin was warm and moist and she had a fine tremor of outstretched hands. There was mild weakness of the thigh muscles. She had tachycardia (110/min). She also had a mild thyroid enlargement (goiter) and a bruit over the gland. Thyroid function tests show suppressed TSH level (< 0.05; range 0.4–4 mU/L) and increased thyroxine (T4 = 29; range 9–25 pmol/L) and tri-iodothyronine (T3 = 25; range 3.5–6.5 pmol/L). Thyroid receptor antibodies were detected.  What is the most likely diagnosis?

a) Hashimoto’s thyroiditis

b) Pituitary tumor

c) Iodine deficiency

d) Graves’ disease 

e) Thyroid tumor

160) A patient presents with severe abdominal pain, nausea and vomiting. Serum amylase is increased and serum calcium is decreased. Which of the following diseases is most likely?

a) Ulcerative colitis

b) Crohn’s disease

c) Acute pancreatitis

d) Gall stones

e) Acetaminophen poisoning

161) A 59-year-old woman was admitted to the renal unit with recurrent infections and recurrent endocarditis. She had been treated with hemodialysis for 5 years and over a period of 2 years had lost 33% of her body weight. She had a very poor appetite and had been taking two cartons (1.5 kcal/ml) of milkshake sip feeds daily. She was anuric and her fluid intake was restricted to 1000 ml daily. Her height was 1.68 m and she weighted 52.7 kg; BMI was 18. Her most recent biochemistry results revealed persistent hyperkalemia between 5.7 and 6.2 mmol/L.  Which of the following treatments is most helpful?

a) Decreased nutritional supplementation.

b) Continued nutritional supplementation with decreased K+ intake.

c) Continued nutritional supplementation with increased K+ intake.

d) Continued nutritional supplementation with decreased Na+ intake.

e) There is no problem, leave treatment as it is.

162) A 56-year-old woman was admitted to a general ward with increasing breathlessness. She had smoked 20 cigarettes a day for the previous 25 years and reported frequent attacks of ‘winter bronchitis’. Arterial blood gas measurements revealed a pO2 of 45 mmHg, pCO2 of 53 mmHg, and pH 7.35; bicarbonate concentration was 35 mmol/L.  Which of the following statements is LEAST likely to be true?

a) This patient suffered from chronic obstructive pulmonary disease.

b) This patient has chronic respiratory acidosis. 

c) Her ventilation is probably dependent on hypoxic drive. 

d) Her bicarbonate is increased, as a result of metabolic compensation of respiratory acidosis. 

e) Supplemental oxygen will normalize her blood gas values.

163)  A 15-year-old African-American boy came to the UK on an exchange visit for 2 months. After 2 weeks in the UK, he complained of abdominal discomfort, a feeling of being bloated, increased passage of urine and, more recently, the development of diarrhea. His only change in diet noted at the time was the introduction of milk. He had developed a considerable liking for milk and was consuming 1–2 large cartons per day. A lactose tolerance test was performed, whereby the young man was given 50 g lactose in an aqueous vehicle to drink. Plasma glucose levels did not rise by more than 1 mmol/L (18 mg/dL) over the next 2 hours, with sampling at 30-minute intervals. Which of the following is most likely?

a) Graves’ disease

b) lactose intolerance

c) pituitary tumor

d) Crohn’s disease

e) celiac disease

164) A 52-year-old woman presented to the accident and emergency department of her local hospital with severe right-sided flank pain. Blood was detected on stick testing of urine and radiography revealed the presence of kidney stones. The pain settled with opiate analgesia. Further questioning revealed a history of recent depression, generalized weakness, recurrent indigestion, and aches in both hands. Serum adjusted calcium was 12.8 mg/dL, serum phosphate 2.0 mg/dL, and PTH 169 pg/mL (normal range 11–69 pg/mL).  Which of the following is most likely?

a) Her diet is calcium and/or vitamin-D deficient

b) She has renal failure

c) She has a PTH secreting tumor

d) She has a calcitonin secreting tumor

e) She has an ACTH secreting tumor

